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NEW QUESTION 1
What is a benefit of using VRRPV3 as compared to VRRPv2?

A. VRRPV3 supports IPv4 and IPv6

B. VRRPV3 supports authentication

C. VRRPvV3 supports preemption

D. VRRPv3 supports stateful switchover

Answer: A

NEW QUESTION 2
Refer to the exhibit.

r-u—-t—ul—ln—-l—lu—“u-_l—-nn—lﬂulﬁ—l—“.'

HQ

I, SO

Spoke Spoke

EIGRP has been configured on all links. The spoke nodes have been configured as EIGRP stubs, and the WAN links to R3 have higher bandwidth and lower delay
than the links to R4. When a
link failure occurs at the R1-R2 link, what happens to traffic on R1 that is destined for a subnet attached to R2?

A. R1 has no route to R2 and drops the traffic

B. R1 load-balances across the paths through R3 and R4 to reach R2
C. R1 forwards the traffic to R3, but R3 drops the traffic

D. R1 forwards the traffic to R3 in order to reach R2

Answer: D

NEW QUESTION 3
Which QoS feature responds to network congestion by dropping lower priority packets?

A. CBWFQ

B. tail drop

C. WRED

D. strict priority

Answer: C

NEW QUESTION 4
A branch office has a primary L3VPN MPLS connection back to the main office and an IPSEC VPN tunnel that serves as backup. Which design ensures that data

is sent over the backup connection only if the primary MPLS circuit is down?

A. Use EIGRP to establish a neighbor relationship with the main office via L3VPN MPLS and the IPSECVPN tunnel.

B. Use BGP with the multipath feature enabled to force traffic via the primary path when available.

C. Use static routes tied to an IP SLA to prefer the primary path while a floating static route points to the backup connection.
D. Use OSPF with a passive-interface command on the backup connection.

Answer: C
NEW QUESTION 5
An engineer must propose a QoS architecture model that allows an application to inform the network of its traffic profile and to request a particular type of service

to support its bandwidth and delay requirements. The application requires consistent and dedicated bandwidth end to end. Which QoS architecture model meets
these requirements?
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A. DiffServ
B.LLQ

C. WRED

D. IntServ

Answer: D

NEW QUESTION 6
A network engineer must connect two sites across a public network using a secure tunneling technology that supports multicast traffic. Which technology must be
chosen?

A. IPsec

B. GRE

C. PPTP

D. GRE over IPsec

Answer: D

NEW QUESTION 7
Which method will filter routes between EIGRP neighbors within the same autonomous system?

A. distribute-list

B. policy-based routing
C. leak-map

D. route tagging

Answer: A

NEW QUESTION 8
When designing interdomain multicast, which two protocols are deployed to achieve communication between multicast sources and receivers? (Choose two.)

A. IGMPv2
B. BIDIR-PIM
C. MP-BGP
D. MSDP

E. MLD

Answer: CD

NEW QUESTION 9
Which feature must be incorporated into the campus LAN design to enable Wake on LAN?

A. dynamic ARP Inspection Snooping on layer 2 devices
B. directed broadcasts on layer 3 devices

C. proxy ARP on layer 3 devices

D. DHCP Snooping on layer 2 devices

Answer: B

NEW QUESTION 10
Which two steps can be taken to improve convergence in an OSPF network? (Choose two.)

A. Use Bidirectional Forwarding Detection

B. Merge all the areas into one backbone area

C. Tune OSPF parameters

D. Make all non-backbone areas stub areas

E. Span the same IP network across multiple areas.

Answer: CD

NEW QUESTION 10

Which function are fabric intermediate nodes responsible for in an SD-Access Architecture?

A. mapping EIDs to RLOCs

B. encapsulating user traffic in a VXLAN header including the SGT

C. registering new endpoints in the HTDB

D. transporting IP packets between edge nodes and border nodes

Answer: D

NEW QUESTION 14

A customer with an IPv4 only network topology wants to enable IPv6 connectivity while preserving the IPv4 topology services. The customer plans to migrate IPv4

services to the IPv6 topology, then decommission the IPv4 topology. Which topology supports these requirements?

A. dual stack
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B. 6VPE
C. 6to4
D. NAT64

Answer: A

NEW QUESTION 19
A customer is discussing QoS requirements with a network consultant. The customer has specified that endto- end path verification is a requirement. Which QoS
solution meets this requirement?

A. IntServ model with RSVP to support the traffic flows

B. DiffServ model with PHB to support the traffic flows

C. marking traffic at the access layer with DSCP to support the traffic flows
D. marking traffic at the access layer with CoS to support the traffic flows

Answer: A

NEW QUESTION 22
What are two benefits of designing an SD-WAN network fabric with direct Internet access implemented at every site? (Choose two.)

A. It decreases latency to applications hosted by public cloud service provider.

B. It decreases latency on Internet circuits.

C. It increases the speed of delivery of site deployments through zero-touch provisioning.
D. It increases the total available bandwidth on Internet circuits.

E. It alleviates network traffic on MPLS circuits.

Answer: AE

NEW QUESTION 26

How do endpoints inside an SD-Access network reach resources outside the fabric?

A. a VRF fusion router is used to map resources in one VN to another VN

B. Fabric borders use VRFs to map VNs to VRFs

C. SD-Access transit links are used to transport encapsulated traffic from one fabric to another

D. A fabric edge is used to de-encapsulate VXLAN traffic to normal IP traffic then transported over the outside network
Answer: D

NEW QUESTION 31
Refer to the exhibit.
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An engineer must optimize the traffic flow of the network. Which change provides a more efficient design between the access and the distribution layer?
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A. Add a link between access switch A and access switch B

B. Reconfigure the distribution switch A to become the HSRP Active

C. Change the link between distribution switch A and distribution switch B to be a routed link
D. Create an EtherChannel link between distribution switch A and distribution switch B

Answer: B

NEW QUESTION 34
Which two BGP features will result in successful route exchanges between eBGP neighbors sharing the same AS number? (Choose two.)

A. advertise-best-external
B. bestpath as-path ignore
C. client-to-client reflection
D. as-override
E. allow-as-in

Answer: DE

NEW QUESTION 38
Drag and drop the characteristics from the left onto the correct telemetry mode on the right.

Dial-In

The collector initiates a session to
the device

supports TCP, UDP, and gRPC

The device initiates a session to the
collector

Dial-Out

supports gRPC only

A. Mastered
B. Not Mastered

Answer: A

Explanation:

In a dial-in mode, the destination initiates a session to the router and subscribes to data to be streamed. Dialin mode is supported over gRPC in only 64-bit
platforms

In a dial-out mode, the router initiates a session to the destinations based on the subscription. All 64-bit IOS XR platforms (except for NCS 6000 series routers)
support gRPC and TCP protocols. All 32-bit IOS XR platforms support only TCP.

NEW QUESTION 42

A company is using OSPF between its HQ location and a branch office. HQ is assigned area 0 and the branch office is assigned area 1. The company purchases
a second branch office, but due to circuit delays to HQ, it decides to connect the new branch office to the creating branch office as a temporary measure. The new
branch office is assigned area 2. Which OSPF configuration enables all three locations to exchange routes?

A. The existing branch office must be configured as a stub area

B. A virtual link must be configured between the new branch office and HQ
C. A sham link must be configured between the new branch office and HQ
D. The new branch office must be configured as a stub area

Answer: B

NEW QUESTION 47
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